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KIS HE AL 62,780 50,780 12,000
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= 2,653,250 2,654,500 21,250
FHAHE0 XIS KA 682,400 585,900 96,500
| 682,400 585,900 96,500
403 XX SHHMSKH=01A 682,400 585,900 96,500
| 682,400 585,900 96,500
01 MXISHHE2EX 682,400 585,900 96,500
OIS S UL X =R A (S BIH)
Z& 682,400,000 682,400 585,900 96,500
| 682,400 585,900 96,500
el g d&EXISaAL 7,006,250 7,010,500 A4,250




2: ssgroes SA O XA T}
Hu: (UXIQLRHRON (AR - FAD| 20 LAKI/0fl LA K| L XFI )

el dE=R2c EER=E)
A 2A - FH . G(BH) - NRAY - BES 0 &y ol B o HIRS
pJ 4,353,000 4,356,000 /3,000
< 2,653,250 2,654,500 21,250
403 X SHHMSAH=01H 7,008,250 7,010,500 24,250
2l 4,353,000 4,356,000 23,000
& 2,653,250 2,654,500 21,250
01 AXISHHA 22 % 7,006,250 7,010,500 N4,250
e =Ed88XS3AY
33 7,006,250,000& 7,006,250 7,010,500 24,250
) 4,353,000 4,356,000 23,000
< 2,653,250 2,654,500 21,250
NEIHEOPE (A - SAIIH LI XI/0I L KL XN ) 59,730 66,000 26,270
HEHUXNAHEHESS 59,730 66,000 76,270
CAIARSUEESA 43,730 50,000 76,270
207 H5oHeH] 43,730 50,000 76,270
01 = 43,730 50,000 26,270
OTAARSS AR SA
38 43,729,500& 43,730 50,000 26,270
Y 2AIHI(OIHXIASD) (O1EHDIIE}) 102,900 77,900 25,000
Jl=3H| 102,900 77,900 25,000
Jl=23H] 102,900 77,900 25,000
201 er23| 41,200 36,200 5,000
01 At2teltl 36,200 31,200 5,000
e gt=EH 17,200 12,200 5,000
OUUXIBNHNIZ RIS 5,000 0 5,000
202 04l 56,600 36,600 20,000
01 =LH0i 56,600 36,600 20,000
OgS=20tl 3& 56,600,000 56,600 36,600 20,000




20288 =&

A £ 0 & AFE

2 &

2 3 eS| &

Al

A

a3 SSHAAER A FXSEFA
M HRES(AXSZAD (LY - SAIILLHEXI/AIH XL IO
&2l WRHHXS (CH9): &S
A= 24 - 3 SR(3) - NIRAY - BES Off &4 & A HnsZ
FEDNE=RSESNl; 26,923,227 26,807,826 115,401
ﬁi%%g%ﬂa—igﬂﬂf)(&% SAILLE X /0l KIS 26,923,227 26,807,826 115,401
LA XIE 26,923,227 26,807,826 115,401
LHAXANZALNMSEIAHNES 26,923,227 26,807,826 115,401
701 JIERIHISEES 26,923,227 26,807,826 115,401
01 JIEteI AN ES 26,923,227 26,807,826 115,401
O2NHAXNATAALMEEHEES
33 26,923,227,000& 26,923,227 26,807,826 115,401




H & 0l & AHS B Ml A
0BEET F=Z 2 3 Luts|H A
A= SSiKE=R SA oAkt
M Ao AU (S O/ FH A4 - 0E)
o R Roe b= R P F (SH9 H2)
A= 24 - 3. SR(3H) - MRAY - Bd Off &K & A HusZ
off == Atk 88,787,180 87,334,371 1,402,809
= 50,925,598 48,060,598 2,865,000
) 397,184 388,485 8,699
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= 2,837,272 2,687,272 150,000
= 81,000 81,000 0
< 3,536,445 3,373,445 163,000
Sordze] 1,371,367 1,088,367 313,000
= 180,000 30,000 150,000
< 1,191,367 1,028,367 163,000
SMASHLSZEHAADI22E 100,967 87,967 13,000
202 Ot 3,000 0 3,000
01 =LioiL 3,000 0 3,000
OSRHaELSAE 2T 3,000 0 3,000
206 =4I 20,000 10,000 10,000
01 M= HI 20,000 10,000 10,000
ggoaos+y 3& 20,000,000 20,000 10,000 10,000
Het=dtE2ie 300,000 0 300,000
= 150,000 0 150,000
< 150,000 0 150,000
405 THEFSHI 300,000 0 300,000
= 150,000 0 150,000
< 150,000 0 150,000
01 ML ESFSHI 300,000 0 300,000
OgAtsE4 (HIEHES (S +2)) 300,000 0 300,000
= 150,000 0 150,000
< 150,000 0 150,000
SHI(HYII=HE) (O1EHIIE 2,392,648 2,263,569 129,079
= 1,738,000 1,738,000 0
< 654,648 525,569 129,079
2l 2,072,088 1,947,989 124,079
= 1,642,000 1,642,000 0
[ 430,068 305,989 124,079
H29H| 430,068 305,989 124,079
101 QI2AHI 340,048 215,969 124,079
01 2= 149,132 0 149,132
O0=29=(62) 29,132 0 29,132
OJles 22,732 0 22,732
O=g 6,400 0 6,400
OE0lat 120,000 0 120,000
03 SRH(RIH )22 U2+ 190,916 215,969 25,053




A= SSiKF=R A=
M HAPAZHI(HSIIEHH)(IIEHIIEH
s lIEE2ghl EER=E)
A 2A - FH . G(BH) - NRAY - BES 0 &y ol B o HIRS
O-ddSELLIEA22Y 190,916 215,969 n25,053
OAIZIRIZ2 R4 &% 8,640,000 8,640 12,959 A4,319
Oxgz=g 23 6,912,000 6,912 27,646 N20,734
Jl=&H 320,580 315,580 5,000
z 96,000 9,000 0
< 224,580 219,580 5,000
Jl=2&H] 224,580 219,580 5,000
202 Ot 36,000 31,000 5,000
01 =LHoi 36,000 31,000 5,000
Oge=a04tl & 36,000,000 36,000 31,000 5,000




H & 0l & AHS B Ml A

A= SSHAH2R 2A = SENZ
A CAESASERS (SN LA/ L4 - 0E)
[ B0 b DA (SH9 H2)
3 SHRA(SAH) - HRAIY - BES Off &4 I8N BlunsZ
SR 2,078,486 2,221,543 A 143,057
= 892,643 892,643 0
z 89,000 89,000 0
< 1,096,843 1,239,900 A143,057
7=(s 1,980,046 2,123,103 A143,057
= 892,643 892,643 0
= 31,000 31,000 0
< 1,056,408 1,199,460 A 143,057
1,980,046 2,123,103 A 143,057
= 892,643 892,643 0
z 31,000 31,000 0
& 1,056,408 1,199,460 A143,057
el 156,943 300,000 A143,057
Al&H| 156,943 300,000 A143,057
INE=1:] 156,943 300,000 A 143,057
HAQroH 2t | MTHRI 21 2 156,943 300,000 A143,057
Odiohofi | AL MAIEHES
38 156,943,000 156,943 300,000 A143,057




S
5
m
H
1

o 0% o
JE 0X O
M0 Ho <t

02 02 -

o o Al

= SHRA(SAH) - HRAIY - BES Off &4 & A
O AR 5,549,811 5,545,811
= 800,000 800,000
== 4,749,811 4,745,811
HH2L I (=R )(DIEH/DIE}) 1,823,509 1,819,509
eI 23 1,678,024 1,674,024
eIE =&l 1,678,024 1,674,024
204 2242 AFH| 40,420 36,420
02 g2 x| 40,420 36,420
L6=, H2AL Z& 21,820,000 21,820 17,820




H & 0l & AHS B Ml A

N 2A 1 eI2DI|e M
LIRS L MEN T E 22D (S LA/ 24 - 0 E)
QIS MEME22Z
A2 2N - BB O9(E) - HISAY - BES il v ol H o
WIAAHH 4,525,773 4,205,773
Eﬁg?{ﬂ%}_éﬂE—éé‘iEHiﬂ@%%%(—Z—%‘ﬁH%t—"‘—ﬁ/@Hcc’f—ﬁ‘—& 3,018,005 2,698,005
QIS MEME 22 1,359,858 1,059,858
OIZNDMEME22Z 1,359,858 1,059,858
401 AlIEHIZL 2 0HY| 1,000,000 700,000
01 AlIEHI 1,000,000 700,000
CtH==HAIZSEIHE 300,000 0
E=IN SN R 701,230 681,230
=N SNt 701,230 681,230
201 ZEH2 & 490,000 470,000
02 Z324l 443,000 423,000
A—!II—H

CIAl ] 85,000 65,000

o
OFANEALES 20,000 0

(=}




H & 0l & AHS B Ml A

A= SSHAH2R 2A 1 ES0FALSAIE
¥ ESRUASRAYE(SHola/oi 4t - 0fE)
el BAIRIIES M)
= - 24 - ZH - GA(ZAH) - HRAY - BES Off &4 & A Z
HFatAstH 3,266,053 3,213,053 53,000
= 100,000 100,000 0
=S 3,166,053 3,113,053 53,000
HJUASRAHE (ST bt HE) 1,791,381 1,739,381 52,000
= 100,000 100,000 0
& 1,691,381 1,639,381 52,000
AT 2+ 576,423 524,423 52,000
OtSLH2&E At= Xl 22 576,423 524,423 52,000
401 AIEHIZL 20| 282,000 230,000 52,000
01 Al&ZHI 282,000 230,000 52,000
IOkl = XI2H0I X 30,000 0 30,000
LIOrRIBH =2 SIHS A 22,000 0 22,000
HH2LIH(ESORALSEE) (DIEHIIE 1,474,672 1,473,672 1,000
1= 23 1,309,646 1,308,646 1,000
el 2| 1,309,646 1,308,646 1,000
204 MNP -HAH| 24,940 23,940 1,000
02 Ag=2 4] 24,940 23,940 1,000
6=, AA & 14,060,0008 14,060 13,860 200
ars 3& 2,260,000 2,260 1,860 400
[J8-9= 44 5,620,000 5,620 5,220 400




